
MOMENT OF INERTIA:

When examinee by itself feels that there is no physical 
significance for Moment of Inertia. It is just a mathematical expression & 
usually denoted by I. Generally instead of force, the area or mass of a 
figure or body is taken into consideration, then the second moment is 
termed as second moment of area or second moment of mass, but all 
such second moments are broadly called Momentum of Inertia.
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THEOREM OF PERPENDICULAR AXIS:

It states “ If Ixx and Iyy be the Moments of Inertia of a plane section about to
perpendicular axis meeting at “O” point, the Moment of Inertia Izz about the axis z-z
perpendicular to the plane and passing through the intersection of x-x and y-y
axes is given by the relation, Izz = Ixx + Iyy .

THEOREM OF PARALLEL AXIS:

It states “ If the Moment of Inertia of a plane area or section about an axis
through its centre of gravity, be denoted by IG, the Moment of Inertia of the area
about an axis AB and parallel to the base at a distance h from the Centre of
Gravity is given by IAB = IG + ah2 , where IAB = Moment of Inertia of the required area
about AB, IG = Moment of Inertia of the area through centre of gravity, a = area of
the required section and h=distance between centre of gravity of the given section
and the axis AB.





Moment of Inertia of a Composite
Section is find out as below :

•Split up the given section into plane areas
(i.e.
rectangular, trangular, circular etc.)

•Find out the Moment of Inertia of these areas
about their respective Centre of Gravity.

Now transfer these Moments of Inertia about 
the required axis by the theorem of Parallel 

axis, [i.e.  IAB = IG + ah2
].

•The Moment of Inertia of a given section may 
now be obtained by the ∑ (Algebraic Sum) of 
the Moments of the required axes.
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Sl. No. Basic Shape Moment of Inertia Diagram
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